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第1章 1 「数列の極限」 第1回
例題 次の極限値を求めよ．

(1) lim
n→∞

n2 + 3
2n2 + n− 1

(2) lim
n→∞

(
√
n2 − n+ 1− n)

解答
(1) lim

n→∞
n2 + 3

2n2 + n− 1
= lim

n→∞

(n2 + 3) · 1
n2

(2n2 + n− 1) · 1
n2

= lim
n→∞

1 + 3
n2

2 + 1
n

− 1
n2

= 1
2

(2) lim
n→∞

(
√
n2 − n+ 1− n) = lim

n→∞

(
√
n2 − n+ 1− n)(

√
n2 − n+ 1 + n)√

n2 − n+ 1 + n
= lim

n→∞
−n+ 1√

n2 − n+ 1 + n

= lim
n→∞

−1 + 1
n√

1− 1
n

+ 1
n2 + 1

= − 1
2

1. 次の極限値を求めよ.

(1) lim
n→∞

n2 + n+ 1
n+ 1

(2) lim
n→∞

4n+ 1
3n− 2

(3) lim
n→∞

(
√
n+ 1−

√
n) (4) lim

n→∞
(
√
n2 + 3n+ 1− n)

2. 次の等比数列の収束・発散を調べよ.

(1)
{
2n

3n

}
(2)

{(
cos π

6

)n}

(3)
{(

tan π
3

)n}
(4)

{(
1

1−
√
2

)n
}




